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QUESTION: 59 

What is a fundamental component of a Heat template? 

 

 

A. resources 

B. node 

C. storage 

D. input  

 

 

Answer: A 

 

 

QUESTION: 60  

Refer to Exhibit. 

 

 
 

Which two statements are correct? (Choose two) 

 

 

A. This alarm is predefined in Contrail. 

B. One or more compute node processes are not running. 

C. The Contrail-analytics-nodemgr process created the alarm. 

D. The Contrail-collector process created the alarm 

 

 

Answer: A, B 

 

 

QUESTION: 61 

What are three data encapsulation methods used by a Contrail compute node? (Choose 

three.) 

 

 

A. IPsec 

B. MPLS over UDP 

C. VXLAN 

D. MPLS over MPLS 

E. MPLS over GRE  

 

 



Answer: A, B, D 

 

 

QUESTION: 62 

Which two statements about Contrail ZooKeeper are true? (Choose Two) 

 

 

A. it deploys high availability services by thread utilization 

B. It provides distributed synchronization and group services. 

C. It is a centralized service for configuration information 

D. It generates analytics reports on service activation and deactivation time.  

 

 

Answer: A, D 

 

 

QUESTION: 63  

Refer to Exhibit. 

 

 
 

You are trying to connect virtual machine A to virtual machine B. Virtual machine A 

belongs to the security group WEbServers. Virtual machine B belongs to the default 

security group. Which two actions would you perform on the default security group to 

allow access to virtual machine A? (Choose two) 

 

 

A. Add an egress rule to the default security group to allow VM A’s IP address. 

B. Add an ingress rule to the default security group to allow the WebServers security 

group. 

C. Add an egress rule to the default security group to allow the WEbServers security 

group. 

D. Add an ingress rule to the default security group to allow VM A’s IP address.  

 

 

Answer: A, C 

 

 

QUESTION: 64  

Refer to Exhibit. 



 

 
 

Virtual machine VM-1 is spawned on compute node Compute-1. VM-1 is not able to 

ping PC-1, which is located outside of the SDN cloud. You want to run packet captures 

to trace the packet initiated by VM-1 towards PC-1. Which three interfaces would you 

use to accomplish this task? (Choose Three) 

 

 

A. the SDN-GW interface facing the SDN cloud. 

B. the Control-1 data interface 

C. the Compute-1 data interface 

D. the VM-1 tap interface 

E. the Compute-2 data interface  

 

 

Answer: A, C, E 

 

 

QUESTION: 65 

You are not able to view a specific Glance image under a project named Administrator 

in OpenStack. However, you are able to view the same image in a different project 

named ProjectA. What is the problem in this scenario? 

 

 

A. The image is not marked as public 

B. There is an issue with Keystone authentication. 

C. Only ISO, qcow2, and raw image types can be seen under all of the projects. 

D. You have restricted access to the project named Administrator.  

 

 

Answer: C 
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